&_

HIGH PRESSURE GEAR PUMP

BHP3 BHM3|

F0fT3TH/ HOW TO ORDER
B p 3 || wE | ido| | M || W || MR || WOEE || W || WEH
Front cover Rotation Size Shaft Ports Ports position Seals Options
I I I | | |
Ehs P- {5853 5 B D T st5% 2
Series Pump Group Clockwise 22
M- 5Bk B1 R 2
Motor § | Counter 3
clockwise 2 ARG Options
Al R AERS 46 HE#E Drain
Reversible 50
Al QO-FREk fintemal drain
32 Q1-4hEREi /extemal drain G3/8
35 Q2-5hEh# / extemal drain 3/4-16 UNF
63 Q3-$hEBH | extemal drain G4
m Q4-5hEBi | external drain 9/16-18 UNF
HMOAE Ports position
HR- iU Omit-Side inlet and side outlet
A-BRTH A-Front inlet and front outlet
B-REHATd B-Back inlet and front outlet
C-RHH C-Back inlet and side outlet
D- ATt D-Side inlet and front outiet
R-Et R-Back inlet and back outlet
LES) Seals
ERe-REEELE-10C~+80 C i OB B H R A i 3bar, Omit-Range between ~107C and +80°C,inlet pressure up to max. 3 bar absolute.
V-ERFRENR, BEEEE-10C-+120C, V-Version suitable for fluid at hi~temperatures, range between -10C and +120C.
H-ERTERMR, RESEE-40T-+80C, H-Version suitable for fiuid at low-temperatures, range between -40'C and +80 C.
T-E R Fiftih QK 48 h3~6bar, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.
N-1% B Fift i & & 4% [ 13~ 10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute,
356/ Examples:

BHP3-B0-D-20-CO-F0=  JR$iH, iR 20 coev, BO SIS, COEEEMR, FOZRMO, ks

clockwise rotation, 20 ccirev, BO front cover, CO parallel shaft, setting ports FO type, standard seals
BHP3-B1-D-20-TO-E0=  JEMSHSE, HE 20 colrev, B B, TO1:0%M5RM, EO RN, fkis

clockwise rotation, 20 ccfrev, B1 front cover, 1:8 tapered shaft{T0), setting ports EO type, standard seals
BHP3-A0-D-20-C2-F4-N= IRBi§t4%, #& 20cchev, AO %, C2 EEHS, F4 ZEMDBERHN)

clockwise rotation, 20 ccfrev, AO front cover, C2 parallel shaft, setting ports F4 type, high pressure seals(N)



BHP3B0

HIGH PRESSURE GEAR PUMP

M10 B4 18. M10 thread depth 18.
M8 B4R 16. M8 thread depth 16.
REZH, n8 M0 BTHE To mount the pump, n.8 M10 screws,
B A4T £3 Nm. with a torque wrench setting fixed
at47 +3Nm.
Hign g ||
OUTLET INLET
134 M H
6 110 L
o c 11n4 c 14
_%] . | %
> ) I
A . H -
=
. OQ'Q ®©
8 ACA B Lo TS0 | B At T
= 5 © © € .
o L ML . Q| Q = L MR 23
LR - _ Q @$ pliasfulil g
d D
AA b 12 B
8
o T
ik i3 BAEN BRkR Bii%E R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP3B0-D-20 0 20 600 | 128 | 63 | 48 |50 | 20 | M8 | 50 |165 | M
BHP3B0-D-22 2 250 265 280 3500 600 130 | 64 | 48 | 50 | 20 | M8 | 50 |165 | M8
BHP3B0-D-26 2 250 265 280 3000 600 133 | 65 | 48 |50 | 20 | M8 |50 [ 20 | M8
BHP3B0-D-33 B 230 250 210 3000 500 139 | 68 | 48 |65 | 25 | MB | 65 | 20 | M8
BHP3B0-D-30 39 20 250 270 3000 500 146 | 72 | 48 | 65 | 25 | M8 |65 | 20 | M8
BHP3B0-D-46 46 230 250 210 3000 500 152 | 75 | 48 |65 | 25 | MB | 65 | 20 | M8
BHP3B0-D-50 50 m 240 260 3000 500 1% | 77 | 51 | 76 | 33 |MIO| 76 | 25 | M0
BHP3B0-D-52 52 b2 240 260 3000 500 158 | 78 | 51 | 76 | 33 |[Mi0 | 76 | 25 |M10
BHP3B0-D-55 55 200 20 250 2800 400 160 | 79 | 51 | 76 | 33 |Mw0| 76 | 25 |M10
BHP3B0-D-63 63 200 20 250 2800 400 168 | 83 | 51 | 76 | 33 (M| 76 [ 25 |M10
BHP3B0-D-T1 g 180 200 20 2500 400 175 | 86 | 51 | 76 | 33 |MI0 | 76 | 25 | M0

72



73

BHP3B1

HIGH PRESSURE GEAR PUMP

M10 B4R 18, M10 thread depth 18,
THRFH, n8 M0 BSTHEREH To mount the pump, n.8 M10 screws,
47£3Nm. with a torque wrench setting fixed
Stk M1dx1.5 B BHEREH 80 Nm. at47+3 Nm.
- Shaft M14x1.5 nut, with a torque
5_ - wrench setting fixed at 80 Nm.
ififal i ful
OUTLET INLET
122 M 4
5 985 L KR
Mi0 11n4 Mi0 16
A - :
g8 % ]
W o n P o 0
§ Pa WAL \-\ o= w© _c‘\ |~_\ X\
G 3 == = o
| || TN N
%I: | & Midxt5
=18
o d D
2 b 112 B
i #R BXES BRE =ik Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP3B1-D-20 0 20 25 20 60 128 63 5% 2 19
BHP3B1-D-22 2 250 265 280 600 130 64 56 a 5 19
BHP3B1-D-26 2 250 265 280 600 133 65 56 Pl 56 19
BHP3B1-D-33 Kk} 20 250 210 500 139 68 5 2 56 19
BHP3B1-D-39 39 20 250 270 3000 500 146 i 56 2 56 19
BHP3B1-D48 4 20 250 270 3000 500 152 75 54 a 5 27
BHP3B1-D-50 50 20 240 260 3000 500 156 i 56 Pl 56 2a
BHP3B1-D-52 52 20 240 260 3000 500 158 78 56 2 56 bl
BHP3B1-D-55 55 200 20 250 2800 400 160 79 62 3 59 a
BHP3B1-D-63 63 200 20 250 2800 400 168 83 62 kk} 51 27
BHP3B1-D-71 [ 180 200 20 2500 400 175 86 62 Rk} 54 a




BHP3A0

3/8-16 UNC 840 19.

HIGH PRESSURE GEAR PUMP

3/8-16 UNC thread depth 19.

7H6-14UNC B40R 19. 7/16-14 UNC thread depth 19.
RERM, n8MI0E5THE To mount the pump, n.8 M10 screws,
&®H4T £3Nm, with a torque wrench setting fixed
at47 +3Nm.
Hi0 ##0
OUTLET INLET
174 M 4
95 146 L
3/8-16UNC C 19
|3
o |
kA . & - S
2
&4 |1| . o @ ] — o O
z E 3 ] < © TN I
L | e - o = 2 - | |
L ) N S | I
- © = - O € = EN|
s
=,
A : :
112 D
635 %
SR
k4 HE BAER SREE RIEEE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP3A0-D-20 20 250 265 20 3500 600 128 | 63 | 524 |22 | 38 46 | 22 | 19
BHP3A0-D-22 2 250 265 280 3500 600 130 | 64 |524 (262 (38 | 27 [476 |22 | 19
BHP3A-D-26 % 250 265 280 3000 600 133 | 65 |524 (262 |38 | 27 |476 |22 | 19
BHP3A0-D-33 kx} 20 250 270 3000 500 139 | 68 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-33 39 230 250 270 3000 500 146 | 72 |524 (262 |38 | 27 [476 |222 | 19
BHP3A0-D-46 4% 20 250 270 3000 500 152 | 75 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-50 50 220 240 260 3000 500 156 | 77 |524 [262 |38 | 27 |476 |222 | 19
BHP3A0-D-52 52 20 240 260 3000 500 158 | 78 |524 (262 |38 | 27 [476 |222 | 19
BHP3AQ-D-55 55 200 230 250 2800 400 160 | 79 | 587 [302 |76 | 33 |524 | 262 | 27
BHP3A0-D-63 63 200 20 250 2800 400 168 | 83 |587 (302 |76 | 33 |524 |262 | o7
BHP3A0-D-71 I 180 200 220 2500 400 175 | 86 |587 [302 |76 | 33 |524 | 262 | 27

74



BHP3A0

3/8-16 UNC 840 19.

HIGH PRESSURE GEAR PUMP

3/8-16 UNC thread depth 19.

7H6-14UNC B40R 19. 7/16-14 UNC thread depth 19.
RERM, n8MI0E5THE To mount the pump, n.8 M10 screws,
&®H4T £3Nm, with a torque wrench setting fixed
at47 +3Nm.
Hi0 ##0
OUTLET INLET
174 M 4
95 146 L
3/8-16UNC C 19
|3
o |
kA . & - S
2
&4 |1| . o @ ] — o O
z E 3 ] < © TN I
L | e - o = 2 - | |
L ) N S | I
- © = - O € = EN|
s
=,
A : :
112 D
635 %
SR
k4 HE BAER SREE RIEEE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP3A0-D-20 20 250 265 20 3500 600 128 | 63 | 524 |22 | 38 46 | 22 | 19
BHP3A0-D-22 2 250 265 280 3500 600 130 | 64 |524 (262 (38 | 27 [476 |22 | 19
BHP3A-D-26 % 250 265 280 3000 600 133 | 65 |524 (262 |38 | 27 |476 |22 | 19
BHP3A0-D-33 kx} 20 250 270 3000 500 139 | 68 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-33 39 230 250 270 3000 500 146 | 72 |524 (262 |38 | 27 [476 |222 | 19
BHP3A0-D-46 4% 20 250 270 3000 500 152 | 75 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-50 50 220 240 260 3000 500 156 | 77 |524 [262 |38 | 27 |476 |222 | 19
BHP3A0-D-52 52 20 240 260 3000 500 158 | 78 |524 (262 |38 | 27 [476 |222 | 19
BHP3AQ-D-55 55 200 230 250 2800 400 160 | 79 | 587 [302 |76 | 33 |524 | 262 | 27
BHP3A0-D-63 63 200 20 250 2800 400 168 | 83 |587 (302 |76 | 33 |524 |262 | o7
BHP3A0-D-71 I 180 200 220 2500 400 175 | 86 |587 [302 |76 | 33 |524 | 262 | 27

74



BHP3A0

3/8-16 UNC 840 19.

HIGH PRESSURE GEAR PUMP

3/8-16 UNC thread depth 19.

7H6-14UNC B40R 19. 7/16-14 UNC thread depth 19.
RERM, n8MI0E5THE To mount the pump, n.8 M10 screws,
&®H4T £3Nm, with a torque wrench setting fixed
at47 +3Nm.
Hi0 ##0
OUTLET INLET
174 M 4
95 146 L
3/8-16UNC C 19
|3
o |
kA . & - S
2
&4 |1| . o @ ] — o O
z E 3 ] < © TN I
L | e - o = 2 - | |
L ) N S | I
- © = - O € = EN|
s
=,
A : :
112 D
635 %
SR
k4 HE BAER SREE RIEEE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BHP3A0-D-20 20 250 265 20 3500 600 128 | 63 | 524 |22 | 38 46 | 22 | 19
BHP3A0-D-22 2 250 265 280 3500 600 130 | 64 |524 (262 (38 | 27 [476 |22 | 19
BHP3A-D-26 % 250 265 280 3000 600 133 | 65 |524 (262 |38 | 27 |476 |22 | 19
BHP3A0-D-33 kx} 20 250 270 3000 500 139 | 68 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-33 39 230 250 270 3000 500 146 | 72 |524 (262 |38 | 27 [476 |222 | 19
BHP3A0-D-46 4% 20 250 270 3000 500 152 | 75 |524 (262 |38 | 27 [476 |22 | 19
BHP3A-D-50 50 220 240 260 3000 500 156 | 77 |524 [262 |38 | 27 |476 |222 | 19
BHP3A0-D-52 52 20 240 260 3000 500 158 | 78 |524 (262 |38 | 27 [476 |222 | 19
BHP3AQ-D-55 55 200 230 250 2800 400 160 | 79 | 587 [302 |76 | 33 |524 | 262 | 27
BHP3A0-D-63 63 200 20 250 2800 400 168 | 83 |587 (302 |76 | 33 |524 |262 | o7
BHP3A0-D-71 I 180 200 220 2500 400 175 | 86 |587 [302 |76 | 33 |524 | 262 | 27

74



BHP3

HIGH PRESSURE GEAR PUMP

Hi%/FRONT COVER SHB/SHAFTS
110 14 48 51
_.TJ[_.J 6 3% 3%
T~ © ] i — H -
. TE, == L L= i
& =
B
BAHE BAHE
Max.Torque a0 Max.Torque i him
48 51
1% 0%
T« s
: :
T16-2520.1x6 TL6-2520.1x6
Hi
BAHE BAHE
Max.Torque al Max.Torque L
146 19 # 46
95 —'1| i L.
g /'\ M s =
K}j/ | {[= . } o
— . & 6%
A0
it
400 Nm Max Torque 450 Nm
4
B 33
]
DP16/32-30° ~13T DP16/32-30° 15T
50 |
A A
Max.Torque Ll Max.Torque Bam

77



BHP3

HIGH PRESSURE GEAR PUMP

Bi%/FRONT COVER SHIRISHAFTS
95 16 4 4%
11 5 14 40
_-jh'/— &) [ 0 i
= | T
g f ,)_ UL § 1 =
@ & = K =| & - =
AN\ =18 %
& 9 I i & s
Bl
RXHE RAHE
Max.Torque 300 Nm Max.Torque 850 Nm
2 51
8 VI_LF‘ 11
. | g
I =l .
DT B
=15 =
- <7 5
ﬁiﬁfm 350 Nm
140 19 51 83
9 3% M 42
"o Yod Hle i %ﬁ
j/ — = 625015
RAHE RAHE
Max.Torque 450 Nm Max.Torque 500 Nm




79

BHP3

HIGH PRESSURE GEAR PUMP

il O/PORTS
] 95
< | ol AR i ik
[+ 8 TYPE PORTS CODE INLET QUTLET
SRR
& BHP3..20 + BHP3..26 O so0 | 2 | m | 50 | 2 |
' . BHP3..33 + BHP3..46 Fi 6 | 25 | M | e | 2 | me
n.a LiC
BHP3..50 + BHP3..71 P2 % | B | Mo | B | 25 | Mo
FOIF1/F2/F3 BHP3...50 + BHP3..63 F3 % | % | M8 | 76 | 5 | M8
= | 5 \n4 Clc)
=<| 5] i HORS iz {n i u}
i TYPE PORTS CODE INLET OUTLET
&
b BHP3..20 + BHP3. 52 R4 |524 (262 [3B-16UNC |27 [476 |222 | 3B-16UNC |19
F4lF5 BHP3..55 + BHP3..71 F5  |587 |302 [7H6-14UNC |33 |524 (262 | 3B-16UNC |27
Ala)
g i#tma kA
o TYPE INLET OUTLET
5 (O
o BHP3..20 + BHP3..25 572 | % | Mo | 25 |52 | 2% | Mo | 20
) i BHP3..32 572 | % [ Mo | s |52 | % | Mo | 2
' BHP3..40 572 | % | Mo | 3 |52 | 2% | Mo | 20
o0 BRs |52 | m [ w0 | & [m2 | & [ w0 | »




HIGH PRESSURE GEAR PUMP

BHP3

B A/PORTS
_o. it HORS #i0 ]
; N TYPE PORTS CODE INLET OUTLET
g + A B e e b ¢
\.z}/ I BHP3.20 + BHP3..39 EO 56 7 | M0 | 5 19 | M0
?' 1 BHP3..46 E1 51 o7 | M0 | 5t 27 | Mo
n4Cc) BHP3.50 + BHP3.52 E? 56 27 M10 56 2 M10
BHP3.55 + BHP3..71 E3 62 | 33 | Mo | st | 27 | Mi0
ik woRs i u b
y TYPE PORTS CODE INLET OUTLET
e e
? BHP3.20 + BHP2.22 Lo Ga/4 G3/4
BHP3.26 + BHP2.39 L1 G1 G3/4
BHP3..46 + BHP2..63 L2 Gi 14 G1
BHP3..71 13 Gl1R a1 14
ik Euliac i#i#0 Hen
TYPE PORTS CODE INLET OUTLET
BHP3.20 + BHP2..22 RO PT34 PT3/4
BHP3.26 + BHP2..39 R PT1 P34
BHP3..46 + BHP2..63 R PT1 1/4 PT1
BHP3..71 R3 T 12 PT1 114
g MARS i 18] Hi#o
TYPE PORTS CODE INLET OUTLET
BHP3.20 + BHP3..33 uo 15/16-12UNF 11/16-12UNF
BHP3..39 + BHP3..52 Ut 15/8-12UNF 11/16-12UNF

uoutu2 BHP3..55 + BHP3..71 U2 17/8-12UNF 1 5/16-12UNF




